Ubuny. 1

’2.) ) k(0) = 1000€
kln)= k(a=1)+ 0,03 hin-1)+ 100

4,03 h(n-1) 1100

P37 4005/7r0 Jahr f/'hf(’Zn}r//'

/,«[n) =
b) 4(s)= 7690,2 €

m:‘/‘ 5«7R

C) Mk GTR « Nach 13 Jahyen sind tvilmaly mehv alf
1000 € du}‘ i /Lfln/o.

h(73)= 3030,3 €

—

/ot Z,J';'o 700€ pre Jahy abjf/valnn

3),,) L (0)= 10000 €
4(n) = k(n-1).1015 - 89

——

6) k(8)= 5135,1 € »mt IR

C) Noch -Qthm vk das  Honto leev

4) a)
Restschuld Rests. +Zins R+Z-8000 Zinsen Tilgung

0 60000,00 63000,00 55000,00 3000,00 5000,00
1 55000,00 57750,00 49750,00 2750,00 5250,00
2 49750,00 52237,50 44237,50 2487,50 5512,50
3 44237,50 46449,38 38449,38 2211,88 5788,13
4 38449,38 40371,84 32371,84 1922,47 6077,53
5 32371,84 33990,44 25990,44 1618,59 6381,41
6 25990,44 27289,96 19289,96 1299,52 6700,48
% 19289,96 20254,46 12254,46 964,50 7035,50
8 12254,46 12867,18 4867,18 612,72 7387,28
5 4867,18 5110,54

b) Abschlussannuitdt = $110,54 €

c) R(0)= 60000
Q[h): //,Oflo(h-f}"o"ODO



